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Guess Paper – 2010
Class – X

Subject – Maths    
 (Trigonometry)

1. [image: image1.png]If tan{3x 15" =1, than write the value of X'




2. [image: image2.png]If tan@ + cot =3 , then what is the value of ‘tan® 9+ cot® 67




3. [image: image3.png]Write the value of cot(35"+#) tan(55 )




4. [image: image4.png]If sin20 = cos(0-36)", 2¢ and (#-36") are acute angles. Find the value of "'





[image: image5.png]J—\)L

If sin(A+B)=1and cos(4 - B)= (A+B)=90", A> B, then find the values of A

and B.




          6.

[image: image6.png]2tand

If tang =2 1. then find the value of ——
Tran 0




  7.

[image: image7.png]4 cos 53 cosecdT

tnl5.n3s tanss tan7s





8.

[image: image8.png]cosect (90" 0) 10 3an® 30" sed® 32" sin 38

Find the value of S o5 cosec 0t 20




9.

[image: image9.png]It 2sin(3x-15") =3 then find the value of sin®(2x+10")+ta





10.

[image: image10.png]If x=msina.cos i, y=msinasinf and z=mcosa, then prove that x* + y =m'





11.

[image: image11.png]Find the value of sin®5" 4 sin 107+ sin’ 15" +5in* 20" + ...+ sin’ 85




12.

[image: image12.png]1t cos0 - sin =

ing - then prove that cos ¢ sin 0 =2 cos)




13.

[image: image13.png]cosd_ | _sinA
Prove that = o ot
l-tand 1-cotd




14.

[image: image14.png]sec=m - then prove that sec+ tan - 2m or 5=
* T NP m




15.

[image: image15.png]If ‘cosect —cot @ =3, then prove that sin @





16.

[image: image16.png]If ‘asin A=beos A and a sin’ A+ beos® 4 = sin Acos A, then prove that a? 1 b* = |




17.

[image: image17.png]Prove that = (1+cot A cosecd)(1+tan A+ sec 4) =




18.

[image: image18.png]Prove that :- 21

in® A+ cos® 4)-3(sin* A+ cos* 4)




19.

[image: image19.png]Find the value of

3 cot sec’ 637)
fan(90° - 0)cot & see(90° - 0)cosect+

0126 cot 41 cot43 cot 49" cot 64

sin 66

3tan” 45

Sin2 62° +sin’




20.

[image: image20.png]cosecAcotd sind_sind casecd +col A





21.

[image: image21.png]lan@+sectl -1 1+sing
Prove that i» ——————— s
W0 secOrl  cost




22.

[image: image22.png]It cosec —sind = m* and secd)—cosd = ', then prove that p'y? + mn' =1




23.

[image: image23.png]Is cos*arsin® @ = tan? . then prove that <05/




24.

[image: image24.png]1 =tang+sing and n=1an g sin@ then prove that y* 7 = 4fmn





25.

[image: image25.png]1t sin @ —cosf=m and ‘cosect/+scc@=n then prove that »*(1-m?| =4(2-m)





26.

[image: image26.png]1f xcos0 - ysind = a, xsind + ycos 0 = b, prove that x*+y*=a+’




27.

[image: image27.png]1
I 7sin’+3cos’ = 4, show that tanp= —=
V3




28.

[image: image28.png]a
Ifx =asing andy = btané. then prove that
¥





29.

[image: image29.png]Ifsec 6+1an6 = p.show that





30.
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